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1/9. 235/1 54,30 54,80
51,80 Sa.24 Sa.241 47| 52091 53,00 2,0 1,11
425 1,39 1,80 1,75 0,90 7.4
1/9. 235/2 54,30 54,50
52,09 Sa.25 Sa.251 46| 52,91 53,00 2,0 0,82
425 1,39 1,50 1,60 0,90 6,6
3/9. 235/5 57,20 57,30
54,40 Sa.29 Sa.291 43| 5561 55,70 2,0 1,21
425 1,59 1,60 1,74 0,90 6,7
3/9. 235/6 57,80 57,90
54,80 Sa.31 Sa.311 42| 56,22 56,30| 2,0 1,42
425 1,58 1,60 1,74 0,90 6,6
3/9. 222 57,70 57,70
55,66 Sa.37 Sa.371 38| 5568 55,76 2,0 0,02
1200 2,02 1,94 213 090 7,3
4/9. 237/2 58,20 57,90
55,35 Sa41 Sa.411 35/ 5535 55,70( 10,0 0,00
425 2,85 2.20 268 090 84
4/9. 240/1 58,20 58,20
1 55,40 Sad42 Sa.421 38| 5542 55,50/ 2,0 0,02
425 2,78 2,70 2,89 090 99




